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 𝑃(𝑄) 

𝑷(𝑸) = 𝟎. 𝟗𝟏𝟕.

𝑃�̅�(�̅�)

𝑃�̅�(�̅�) = 0.65.

 

𝑃�̅�(�̅�) = 0.65 𝑃𝑅(𝑄) = 0.98.

𝑃(𝑄) = 0.917 

𝑷(𝑸) = 𝑃(𝑅 ∩ 𝑄) + 𝑃(�̅� ∩ 𝑄) 

            = 𝑃(𝑅) ⋅ 𝑃𝑅(𝑄) + 𝑃(�̅�) ⋅ 𝑃�̅�(𝑄) 

            = 𝑥 × 0.98 + (1 − 𝑥) × 0.35 = 𝟎. 𝟗𝟏𝟕 

            ⇒ 0,98𝑥 + 0,35 − 0,35𝑥 = 0,917 

            ⇒ 0,63 𝑥 = 0,567 
                                               ⇒ 𝒙 = 𝟎, 𝟗

 

𝑷𝑸(𝑹)

𝑃𝑄(𝑅) =
𝑃(𝑅∩𝑄)

𝑃(𝑄)
=

0,9×0,98

0,917
≈ 0,962 à 10−3

10−3

 𝑁 ℬ(20; 0,615)

𝑛 𝑃(𝑁 ≥ 𝑛) ≥ 0,65 ℬ(20; 0,615)



𝑃(𝑁 ≥ 𝑛) = 1 − 𝑃(𝑁 < 𝑛) =
𝑛 𝑒𝑛𝑡𝑖𝑒𝑟 

1 − 𝑃(𝑁 ≤ 𝑛 − 1) 

1 − 𝑃(𝑁 ≤ 𝑛 − 1) ≥ 0,65

⇔ −𝑃(𝑁 ≤ 𝑛 − 1) ≥ −0,35 

⇔  𝑃(𝑁 ≤ 𝑛 − 1) ≤ 0,35

𝑃(𝑁 ≤ 10) = 0,202 𝑃(𝑁 ≤ 11) = 0,3513

𝑛 − 1 = 10 𝒏 = 𝟏𝟏.

𝑛 = 12. 

0.3513 ≲ 0.35 (‼) 𝑛 − 1 = 11

𝑛 = 12 ‼!

𝑛 = 11

 

𝑆 = 𝑁1 + 𝑁2 + …+ 𝑁10

𝐸(𝑆) = 𝐸(𝑁1 + 𝑁2 + …+ 𝑁10) = 𝐸(𝑁1) +  𝐸(𝑁2) + 𝐸(𝑁3) + ⋯+ 𝐸(𝑁10)

𝐸(𝑆) = 10 × 𝐸(𝑁𝑟) 𝑟 = 1,2 , … , 10.

𝑁𝑟 ℬ(𝑛 ; 𝑝) 𝐸(𝑁𝑟) = 𝑛 × 𝑝.

𝑬(𝑺) = 10 × 𝐸(𝑁𝑟) = 10 × 20 × 0,615 = 𝟏𝟐𝟑.

𝑁1, 𝑁2, 𝑒𝑡𝑐

𝑉(𝑆) =  𝑉(𝑁1) +  𝑉(𝑁2) + 𝑉(𝑁3) + ⋯+ 𝑉(𝑁10)

 ⇒ 𝑽(𝑺) =  10 × 𝑉(𝑁𝑟) = 10 × 𝑛 × 𝑝 × (1 − 𝑝) = 10 × 20 × 0,615 × 0,385

=  𝟒𝟕, 𝟑𝟓𝟓 

 𝑀 𝑆 𝑀

𝑬(𝑴) = 𝐸 (
𝑆

10
) =

𝑙𝑖𝑛é𝑎𝑟𝑖𝑡é 1

10
𝐸(𝑆) =

123

10
= 𝟏𝟐, 𝟑



 𝑋1 ;  𝑋2 ;  …  ;  𝑋𝑛  𝑛 𝑆 = 𝑋1 + 𝑋2 + ⋯+

𝑋𝑛 𝑛 𝑀 =
𝑋1+𝑋2+⋯+𝑋𝑛

𝑛

𝑛 𝑉(𝑀) =
1

𝑛2 ⋅ 𝑉(𝑆) 

𝑽(𝑴) =
1

102
⋅ 47,355 = 𝟎, 𝟒𝟕𝟑𝟓𝟓

≥

𝑋, 𝐸(𝑋) 𝑉(𝑋),

𝑎 𝑃(|𝑋 − 𝐸(𝑋)| ≥ 𝑎) ≤
𝑉(𝑋)

𝑎2

𝑃(10,3 < 𝑀 < 14,3) ≥ 0,8

𝐸(𝑀)

• 𝑃(10,3 < 𝑀 < 14,3) 

= 𝑃(10,3 − 𝐸(𝑀) < 𝑀 − 𝐸(𝑀) < 14,3 − 𝐸(𝑀)) =
𝐸(𝑀)=12,3

𝑃(−2 < 𝑀 − 𝐸(𝑀)

< 2) 

= 𝑃(|𝑀 − 𝐸(𝑀)| < 2) = 1 − 𝑃(|𝑀 − 𝐸(𝑀)| ≥  2)

𝑃(|𝑀 − 𝐸(𝑀)| ≥ 𝑎) ≤
𝑉(𝑀)

𝑎2

𝑃(|𝑀 − 𝐸(𝑀)| ≥ 2) ≤
0,47355

22 = 0,118 1 − 𝑃(|𝑀 − 𝐸(𝑀)| ≥ 2) ≥ 0,882

=>  𝑷(𝟏𝟎, 𝟑 < 𝑴 < 𝟏𝟒, 𝟑) ≥ 𝟎, 𝟖

 



 𝑚3

15 000

50000

𝑚𝑔

𝐿
= 𝟎, 𝟑

𝒎𝒈

𝑳

 

𝜈𝑛+1 𝜈𝑛 𝜈0 = 0,7

0,7
𝑚𝑔

𝐿
.

0,3
𝑚𝑔

𝐿
. 

 𝒫(𝑛): 𝜈𝑛 ≤

𝜈𝑛+1 ≤ 4 𝑛

𝜈0 = 0,7  ⇒  𝜈1 = 0,92 × 0,7 + 0,3 = 0,944

0,7 ≤ 0,944 ≤ 4 ⇒  𝒫(0)

𝒫(𝑛) 𝜈𝑛 ≤ 𝜈𝑛+1 ≤ 4

0,92 𝜈𝑛 ≤ 0,92 𝜈𝑛+1 ≤ 3,68

0,92 𝜈𝑛 + 0,3 ≤ 0,92 𝜈𝑛+1 + 0,3 ≤ 3,98

            ⇔                𝜈𝑛+1 ≤ 𝜈𝑛+2 ≤ 3,98 ≤ 4 ⇒ 𝓟(𝒏 + 𝟏) 

𝒫(𝑛) 𝑛). 

𝑛 = 0 

𝑛 ∈ ℕ ∀𝑛 ∈ ℕ ∶  𝝂𝒏 ≤ 𝝂𝒏+𝟏 ≤ 𝟒

 

𝑙, 𝑙 𝑥 = 0,92 𝑥 + 0,3 ⇒

𝒙 = 𝟑, 𝟕𝟓



𝜈𝑛+1 

𝑛 𝜈𝑛+1 ≈ 𝜈𝑛 𝜈𝑛

 

3,75
𝑚𝐺

𝐿
. 3

𝑚𝑔

𝐿
.

 

𝑣 ≤ 𝑠) ,

𝑛 + 1), 

𝑠,

𝑛, 

 

𝑚𝑔

𝐿

3.01
𝑚𝑔

𝐿
.

 𝑓

(𝐸) : 𝑦′ = −0,08 𝑦 +
𝑞

50
𝑞

𝑣 ≤ 𝑠

𝑛 + 1

𝑣

= 0,92 × 𝑣 + 0,3

https://www.online-python.com/
https://console.basthon.fr/


𝑓(𝑥) = 𝐶𝑒−0,08𝑥 +
𝑞

4
 (𝐸).

 

𝑦′ = 𝑎𝑦 + 𝑏

𝑓(𝑥) = 𝐶𝑒−0,08𝑥 +
𝑞

4
(𝐸)

𝑦 = 𝑓(𝑥) = 𝐶𝑒−0,08𝑥 +
𝑞

4
    ⇒   𝑦′ = 𝑓′(𝑥) = −0,08 𝐶 𝑒−0,08𝑥

⇒ (𝐸) ⇔ −0,08 𝐶 𝑒−0,08𝑥 = −0,08 ( 𝐶𝑒−0,08𝑥 +
𝑞

4
) +

𝑞

50
 

             ⇔    −0,08 𝐶 𝑒−0,08𝑥 = −0,08 𝐶 𝑒−0,08𝑥 − 0,02 𝑞 +
𝑞

50
 

             ⇔      −0,08 𝐶 𝑒−0,08𝑥 = −0,08 𝐶 𝑒−0,08𝑥 −
𝑞

50
+

𝑞

50
 

            ⇔          0 = 0 

 

𝑦′ = 𝑎𝑦 + 𝑏

𝑦′ = 𝑎𝑦 + 𝑏 𝑦 = 𝑓(𝑥) = 𝐶𝑒𝑎𝑥 −
𝑏

𝑎

 𝑎 = −0,08 𝑏 =
𝑞

50
. 

𝑦′ = −0,08 𝑦 +
𝑞

50

𝒚 = 𝐶𝑒−0,08𝑥 −
𝑞

(−0,08)⋅50
= 𝑪𝒆−𝟎,𝟎𝟖𝒙 +

𝒒

𝟒
.

 

𝑦′ = 𝑎𝑦 + 𝑏

(𝐸)

𝑦′ = 𝑎𝑦 (𝐸) 

(ln(𝑓(𝑥))
′
=

𝑓′(𝑥)

𝑓(𝑥)

• 𝑦′ = 𝑎𝑦

𝑦

▪ 𝑦′ = 𝑎𝑦 ⇔
𝑦′

𝑦
= 𝑎 ⇔ ∫

𝑦′

𝑦
𝑑𝑦 = ∫𝑎 𝑑𝑦  ⇔ ln(𝑦) = 𝑎𝑦 + 𝑘 

⇔ 𝑒ln(𝑦) = 𝑒𝑎𝑦+𝑘 ⇔ 𝒚 = 𝑒𝑎𝑦 ⋅ 𝑒𝑘 = 𝑪 ⋅ 𝒆𝒂𝒚



• ℎ(𝑥)

𝑦′ = 𝑎𝑦 + 𝑏 ℎ(𝑥) 

ℎ′ = 𝑎ℎ + 𝑏 ℎ(𝑥)

ℎ′(𝑥) = 0 ! 0 = 𝑎ℎ + 𝑏

ℎ(𝑥) =  −
𝑏

𝑎

 

𝒚 = 𝑪 𝒆𝒂𝒚 −
𝒃

𝒂

𝒚 = 𝑪𝒆−𝟎,𝟎𝟖𝒙 +
𝒒

𝟒
.

 𝑦(𝑥) = 𝐶𝑒−0,08𝑥 +
𝑞

4
 ⇒∶  lim

𝑥→∞
𝑦(𝑥) =?

lim
𝑥→∞

−0,08 𝑥 = −∞ lim
𝑋→−∞

 𝐶 𝑒𝑋 = 0

𝐥𝐢𝐦
𝒙→∞

𝑪𝒆−𝟎,𝟎𝟖𝒙 +
𝒒

𝟒
=

𝒒

𝟒

 𝑚𝑔 ⋅ 𝐿−1 »

𝑦(0) = 0,7.

𝑚𝑔 ⋅

𝐿−1 lim
𝑥→∞

𝑦(𝑥) = 2

lim
𝑥→∞

𝑦(𝑥) =
𝑞

4
lim
𝑥→∞

𝑦(𝑥) = 2

⇒
𝑞

4
= 2    𝒒 = 𝟖. 

𝑦(0) = 0,7 ⇔ 𝐶 𝑒−0,08⋅0 +
𝑞

4
= 0,7  ⇔ 𝐶 +

8

4
= 0,7 ⇒ 𝑪 = −𝟏, 𝟑

 



 𝑓(−1) = 𝐵

𝑓′(−1) 𝑥 = −1,  −1.

𝑥 𝑓(𝑥)

𝑓′(−1) =
1

1
= 1.

𝑥𝐴 =  𝑦𝐴 = 𝑥𝐵 =  𝑦𝐵 = 
(𝑦𝑏−𝑦𝑎)

(𝑥𝑏−𝑥𝑎)
 

0−(−1)

1−0
=

1

𝑓′(−1) = 1

 𝑥 = −1,4 , 𝒞𝑓 𝑥 =

−1 , 𝒞𝑓



 𝒞𝑓

𝑓(𝑥) = 0 𝑥 = 0,1.

𝒇

𝑓(𝑥) = 𝑥2 + 2𝑥 − 1 + ln (𝑥 + 2)

 lim
𝑥→−2

𝑓(𝑥) = lim
𝑥→−2

𝑥2 + 2𝑥 − 1 + ln (𝑥 + 2) = lim
𝑥→−2

𝑥2 + 2𝑥 − 1 +

lim
𝑥→−2

 ln (𝑥 + 2)

= −1 + lim
𝑥→−2

 ln (𝑥 + 2)

lim
𝑥→−2

 𝑥 + 2 = 0 lim
𝑋→0

ln(𝑋) = −∞

lim
𝑥→−2

𝑥2 + 2𝑥 − 1 + lim
𝑥→−2

ln(𝑥 + 2) =  −1 − ∞ = −∞

𝑥 = −2, −∞,

𝑥 = −2 

 𝑓(𝑥) = 𝑥2 + 2𝑥 − 1 + ln (𝑥 + 2)

(ln 𝑓(𝑥))′ =
𝑓′(𝑥)

𝑓(𝑥)

⇒ 𝑓′(𝑥) = 2𝑥 + 2 +
1

𝑥 + 2
=

(2𝑥 + 2) ⋅ (𝑥 + 2) + 1

𝑥 + 2
=

2𝑥2 + 6𝑥 + 5

𝑥 + 2

⇒ 𝒙 >  −𝟐 𝒇′(𝒙)  =
𝟐𝒙𝟐+𝟔𝒙+𝟓

𝒙+𝟐

 lim
𝑥→−2

𝑓(𝑥) = − ∞  ;  lim
𝑥→+∞

𝑓(𝑥) = + ∞ 𝛼

𝑥 = 0,1 𝑓(𝛼) = 0

𝒇′(𝒙)  =
𝟐𝒙𝟐+𝟔𝒙+𝟓

𝒙+𝟐

]−2;+∞[ 𝒙 + 𝟐 > 0

𝟐𝒙𝟐 + 𝟔𝒙 + 𝟓 Δ = 36 − 4(2)(5) = −4 2𝑥2 +

6𝑥 + 5

𝑥2 > 0.

𝒇′(𝒙) > 𝟎 ]−𝟐;+∞[ 𝒇(𝒙)

]−𝟐;+∞[



 𝑓(𝑥) −∞ +∞ 𝑓(𝑥)

𝑓(𝑥)

𝒇(𝒙) = 𝟎

𝜶 ]−𝟐;+∞[

𝛼

𝑓(0,11) = −0.212 < 0 𝑓(0,12) = 0,058 > 0

𝑓(𝑥)

10−2

𝜶 ≈ 𝟎, 𝟏𝟐 à 𝟏𝟎−𝟐 .

𝛼 ≈ 0,11785…

 

𝑓(𝑥). 

𝑓(𝑥) 𝛼 𝛼

 𝑓(𝑥)

𝑥 𝑓′′(𝑥) = 0.

𝑓(𝑥) = 𝑥2 + 2𝑥 − 1 + ln (𝑥 + 2)

𝒇′(𝒙)  =
𝟐𝒙𝟐+𝟔𝒙+𝟓

𝒙+𝟐
(
𝑢

𝑣
)
′

=
𝑢′𝑣−𝑢𝑣′

𝑣2



⇒          𝑓′′(𝑥) =
(4𝑥 + 6) ⋅ (𝑥 + 2) − (2𝑥2 + 6𝑥 + 5) ⋅ (1)

(𝑥 + 2)2

=
4𝑥2 + 8𝑥 + 6𝑥 + 12 − 2𝑥2 − 6𝑥 − 5

(𝑥 + 2)2
=

2𝑥2 + 8𝑥 + 7

(𝑥 + 2)2

(𝑥 + 2)2

𝑓′′(𝑥).

Δ = 𝑏2 − 4𝑎𝑐 = 64 − (4) ⋅ (2) ⋅ (7) = 64 − 56 = 8  ⇒  √ Δ = √ 8

2𝑥2 + 8𝑥 + 7 𝑥1,2 =
−𝑏±√Δ

2𝑎

𝑥1 =
−8 − √8

4
=

−8 − √8

4
=

−8 − 2√2

4
= −2 −

√2

2
  𝑒𝑡 

𝑥2 =
−8 + √8

4
=

−8 + √8

4
=

−8 + 2√2

4
= −2 +

√2

2
]−𝟐;+∞[

𝑥1  < −2, 𝑥2 =

2 +
√2

2

] − 2,+∞[, 𝑓′′(𝑥)

𝒞𝑓

] − 2,+∞[ , 𝑥 = −2 +
√2

2
𝑓(𝑥)



 𝑀 (𝑀𝑥, 𝑀𝑦) 𝐽 (𝐽𝑥, 𝐽𝑦)

√(𝐽𝑥 − 𝑀𝑥)2 + (𝐽𝑦 − 𝑀𝑦)
2

ℎ(𝑥)

ℎ(𝑥)  =  𝐽𝑀2)

ℎ(𝑥) =  (𝐽𝑥 − 𝑀𝑥)
2 + (𝐽𝑦 − 𝑀𝑦)

2

𝐽 𝐽 (0; 1) 𝑀 𝑀 (𝑥, 𝑔(𝑥))

𝒉(𝒙) =  (0 − 𝑥)2 + (1 − ln (𝑥 + 2))2 = 𝒙𝟐 + [𝐥𝐧(𝒙 + 𝟐) − 𝟏]𝟐

(𝑎 − 𝑏)2 = (b − a)2 

 ℎ′(𝑥) =
2 𝑓(𝑥)

𝑥+2
] − 2,+∞[, 

2

𝑥+2
> 0

ℎ′(𝑥). ℎ′(𝑥)

𝑓(𝑥): 

ℎ(𝑥) ] − 2,+∞[∶

 ℎ′(𝑥)  𝛼

 𝛼 . ℎ(𝑥)

𝑥 = 𝛼 ℎ(𝛼) 𝛼 ℎ(𝑥)

𝐽𝑀2. √ℎ(𝑥) 𝐽𝑀 ?



ℝ+

ℎ(𝑥) √ℎ(𝑥)

 𝑓(𝛼) = 0 𝛼2 + 2𝛼 − 1 + ln(𝛼 + 2) = 0

𝐥𝐧(𝜶 + 𝟐) = 𝟏 − 𝟐𝜶 − 𝜶𝟐

 𝑔(𝑥) = ln(𝑥 + 2)

𝐽 𝑀𝛼 𝐽 (0; 1) 𝑀𝛼  (𝛼; 𝑔(𝛼)).

• 𝑔(𝑥) = ln(𝑥 + 2) 𝑔′(𝑥) =
1

𝑥+2
 

𝑥 𝛼, 
1

𝛼+2
.

• 𝐽𝑀𝛼

𝑔(𝛼) − 1

𝛼 − 0
=

ln(𝛼 + 2) − 1

𝛼
=

𝑞𝑢𝑒𝑠𝑡𝑖𝑜𝑛 3𝑎 1 − 2𝛼 − 𝛼2 − 1

𝛼
= −(2 + 𝛼)

1

𝛼+2
× (−)(2 + 𝛼) = −𝟏.

𝒞𝑔 𝛼

𝐽𝑀𝛼 ∎



 𝐴𝐶⃗⃗⃗⃗  ⃗ 𝐴𝐷⃗⃗ ⃗⃗  ⃗

• 𝐴𝐶⃗⃗⃗⃗  ⃗ (𝑥𝑐 − 𝑥𝑎  ; 𝑦𝑐 − 𝑦𝑎  ; 𝑧𝑐 − 𝑧𝑎) = (4 − 2 ; 4 − 0 ; 1 − 0) = (2; 4; 1)

• 𝐴𝐷⃗⃗ ⃗⃗  ⃗ (𝑥𝑑 − 𝑥𝑎 ; 𝑦𝑑 − 𝑦𝑎  ; 𝑧𝑑 − 𝑧𝑎) = (0 − 2 ; 0 − 0 ; 4 − 0) = (−2; 0; 4)

𝜆 (2; 4; 1) = 𝜆 (−2; 0; 4)

𝑨𝑪⃗⃗⃗⃗  ⃗ 𝑨𝑫⃗⃗⃗⃗⃗⃗ 

 𝐴 (2; 0; 0) ∈  𝒫 ? 8 ⋅ 2 − 5 ⋅ 0 + 4 ⋅ 0 − 16 = 0

𝐶 (4; 4; 1) ∈  𝒫 ? 8 ⋅ 4 − 5 ⋅ 4 + 4 ⋅ 1 − 16 = 0

𝐷 (0; 0; 4) ∈  𝒫 ? 8 ⋅ 0 − 5 ⋅ 0 + 4 ⋅ 4 − 16 = 0

𝑨, 𝑪 𝒆𝒕 𝑫 𝟖𝒙 − 𝟓𝒚 + 𝟒𝒛 − 𝟏𝟔 = 𝟎

𝐴, 𝐶 𝐷

𝒫 8𝑥 − 5𝑦 + 4𝑧 − 16 = 0 𝐵 𝐴, 𝐶  𝐷

𝐷 𝒫

𝐵 (0; 4; 3) ∈  𝒫 ? 8 ⋅ 0 − 5 ⋅ 4 + 4 ⋅ 3 − 16 ≠ 0

• 𝐴𝐶⃗⃗⃗⃗  ⃗ (𝑥𝑐 − 𝑥𝑎  ; 𝑦𝑐 − 𝑦𝑎  ; 𝑧𝑐 − 𝑧𝑎) = (4 − 2 ; 4 − 0 ; 1 − 0) = (2; 4; 1)

• 𝐵𝐻⃗⃗⃗⃗⃗⃗  (𝑥ℎ − 𝑥𝑏 ; 𝑦ℎ − 𝑦𝑏 ; 𝑧ℎ − 𝑧𝑏) = (−1 − 0 ; 1 − 4 ; 2 − 3) =
(−1;−3;−1)

𝐴𝐶⃗⃗⃗⃗  ⃗ (2; 4; 1) 𝐴(2; 0; 0)



               {
𝑥 = 2 + 2𝑡
𝑦 = 0 + 4𝑡
𝑧 = 0 + 𝑡

𝑡 ∈ ℝ 

𝐵𝐻⃗⃗⃗⃗⃗⃗ (−1;−3;−1) 𝐵 (0; 4; 3)

               {
𝑥 = 0 − 𝑡′
𝑦 = 4 − 3𝑡′

𝑧 = 3 − 𝑡′

𝑡′ ∈ ℝ

(𝑥; 𝑦; 𝑧) 

             ⇒   {
2 + 2𝑡 = −𝑡′
4𝑡 = 4 − 3𝑡′
𝑡 = 3 − 𝑡′

  ⇔  {
2 + 2𝑡 = −𝑡′
4𝑡 = 4 − 3𝑡′
𝑡′ = 3 − 𝑡

 ⇔ {
2 + 2𝑡 = −3 + 𝑡
4𝑡 = 4 − 3(3 − 𝑡)

 ⇔ {
𝑡 = −5
𝑡 = −5

𝑡 = −5 ⇒  𝑡′ = 8

➔

𝑥 = −8 ; 𝑦 =  −20 ; 𝑧 = −5

𝐻 ∈ 𝑝𝑙𝑎𝑛 (𝐴𝐵𝐶)

𝐻(−1;  1;  2) ∈  𝑥 − 𝑦 + 2𝑧 − 2 =  0 ? −1 − 1 + 2 ⋅ 2 − 2 = 0

𝐷𝐻⃗⃗⃗⃗⃗⃗ 

𝐷𝐻⃗⃗⃗⃗⃗⃗  (𝑥ℎ − 𝑥𝑑  ; 𝑦ℎ − 𝑦𝑑  ; 𝑧ℎ − 𝑧𝑑) = (−1 − 0 ; 1 − 0 ; 2 − 4) = (−1; 1;−2) = −(1;−1; 2)

𝑥 − 𝑦 + 2𝑧 − 2 =  0

�⃗� = (1;−1; 2)

𝐷𝐻⃗⃗⃗⃗⃗⃗ 

�⃗� 𝐷𝐻⃗⃗⃗⃗⃗⃗  

(𝐴𝐵𝐶), 𝐻 ∈ (𝐴𝐵𝐶)) 𝐷

(𝐴𝐵𝐶). 


